Sr Questions Answers Choice

A. Sin<sup>2</sup>6

B. Cos<sup>2</sup>6
2
1 1+Cot“ 8 C. Cosec<sup>2</sup> 6
D. Sec<sup>2</sup>6
A. Sin<sup>2</sup>6
B. Cos<sup>2</sup>6
20 =
2 THAN"0 =.eoencnnns C. Co Sec<sup>2</sup>8
D. Sec<sup>2</sup>6
A. tan<sup>2</sup>6
3 Sin20 +C0820 =..........e.. 5. Cos<sup>2</sup>0
D.0
Al
4 In which quadrant 0 lie when Sin8<0,Sec8<0? Bl
D. vV
Al
5 In which quadrant 0 lie when Co sec6<0, cos6<0? ?: IIIII
D. VvV
Al
6 In which quadrant 0 lie when Cos6 < 0. tan8 <0? CB; |||"
D. VvV
Al
7 In which quadrant 0 lie when SecB< 0, SinB< o ? ?‘; III"
D. vV
Al
8 In which quadrant 0 lie when cosb <, Sin6 <o ? 3 III”
D. vV
Al
9 In which quadrant® lie when Sin6> 0, tanb< o ? (B: |||"
D. VvV
Al
10 In which quadrant only tan® and cot6 are positive. CB; III”
D. vV
Al
1" In which quadrant only Cos6 and Sec8 are positive? g IIIII
D. vV
Al
12 In which quadrant only Sin6 and Co cosB are positive? (E; |||"
D. VvV
A 3//2
13 CosecB0°=............ CB; 23/2
D. 23
A 12
14 Cto 60°=................ B. 3/2
C.\3
D. 13
A 3//2
B. V3/2
15 tan 60°=............... C 3

D. 113






